

Haris Khan.

ID : 13169.

Subject : Differential
Equation.

Paper : mid term.

Date : 22-08-20.

Q 1. (a)

P# (1)

Soln: $y' = (x+2)y^2$

$$y' = (x+2)y^2$$

$$\frac{dy}{dx} = (x+2)y^2$$

$$\int \frac{1}{y^2} dy = \int (x+2) dx$$

$$\int y^{-2} dy = \int (x+2) dx$$

$$\frac{y^{-2+1}}{-2+1} = \frac{x^2}{2} + 2x + C$$

$$\frac{y^{-1}}{-1} = \frac{x^2}{2} + 2x + C$$

$$y^{-1} = - \left(\frac{x^2}{2} + 2x + C \right)$$

$$y = - \left(\frac{1}{\frac{x^2}{2} + 2x + C} \right) \text{ Ans}$$

Q # 9

(2)

(b)

$$y' = (y + 9x)^2$$

Soln: \rightarrow

$$y' = (y + 9x)^2 \quad \text{--- (i)}$$

let.

$$y + 9x = u$$

$$\frac{dy}{dx} + 9 = \frac{du}{dx}$$

$$\frac{dy}{dx} = \frac{du}{dx} - 9$$

So, eq (i) become.

$$\frac{du}{dx} - 9 = u^2$$

$$\frac{du}{dx} = u^2 + 9$$

$$\int \frac{1}{u^2 + 9} du = \int dx$$

$$\int \frac{1}{(3)^2 + (u)^2} du = \int dx.$$

$$\frac{1}{3} \tan^{-1} \left(\frac{u}{3} \right) = x + C_1$$

$$\tan^{-1} \left(\frac{u}{3} \right) = 3x + 3C_1$$

$$\tan^{-1} \left(\frac{u}{3} \right) = 3x + C$$

$$\frac{u}{3} = \tan(3x + C)$$

$$u = 3 \tan(3x + C)$$

$$y + 9x = 3 \tan(3x + C)$$

$$y = -9x + 3 \tan(3x + C)$$

$$y = -9x + 3 \tan(x + C)$$

x ← x → x. Ans

(4)

Q#2

$$x^3 dx + y^3 dy = 0.$$

Soln:

$$x^3 dx + y^3 dy = 0.$$

$$M dx + N dy = 0.$$

$$M = x^3, \quad N = y^3$$

$$\frac{\partial M}{\partial y} = 0$$

$$\frac{\partial N}{\partial x} = 0$$

$$\Rightarrow \frac{\partial M}{\partial y} = \frac{\partial N}{\partial x} \text{ so exact.}$$

$$u = \int M dx + k(y)$$

$$u = \int x^3 dx + k(y)$$

$$u = \frac{x^4}{4} + k(y) \quad \text{--- (1)}$$

$$\frac{\partial u}{\partial y} = 0 + \frac{d}{dy} k(y)$$

(5)

$$\frac{\partial u}{\partial y} = \frac{d}{dy} u(y)$$

Since we know that.

$$\frac{\partial u}{\partial y} = N = y^3$$

$$y^3 = \frac{d}{dy} u(y) \Rightarrow \int y^3 = \int \frac{d}{dy} u(y)$$

$$\Rightarrow u(y) = \frac{y^4}{4} + C \quad \text{Put in (1)}$$

$$(1) \Rightarrow u = \frac{x^4}{4} + \frac{y^4}{4} + C_1$$

$$C_2 = \frac{x^4}{4} + \frac{y^4}{4} + C_1$$

$$C_2 - C_1 = \frac{x^4}{4} + \frac{y^4}{4}$$

$$C = \frac{x^4}{4} + \frac{y^4}{4} \quad \text{Ans.}$$

x ← x ← x

Q#3 (a)

(6)

$$4y'' - 20y' + 25y = 0$$

Soln:

$$4y'' - 20y' + 25y = 0$$

Here

$$a = -20, \quad b = 25.$$

So,

$$4\lambda^2 - 20\lambda + 25 = 0.$$

$$4\lambda^2 - 10\lambda - 10\lambda + 25 = 0$$

$$2\lambda(2\lambda - 5) - 5(2\lambda - 5) = 0$$

$$(2\lambda - 5)(2\lambda - 5) = 0.$$

$$2\lambda - 5 = 0 \Rightarrow 2\lambda = 5$$

$$\Rightarrow \lambda = 5/2.$$

So, roots are real and equal.

$$y = (c_1 + c_2x) e^{5x/2}$$

$$y = (c_1 + c_2x) e^{5x/2}$$

Ans

Q # 3

(7)

(b)

$$4y'' - 6y' - 7y = 0.$$

Soln:

$$4y'' - 6y' - 7y = 0$$

Assume $y(u) = e^{\lambda u}$
Put in eq.

$$\Rightarrow 4 \frac{d^2 y(u)}{du^2} - 6 \frac{d}{du} y(u) - 7y(u) = 0$$

$$\Rightarrow \frac{d^2}{du^2} (e^{\lambda u}) = \lambda^2 e^{\lambda u} \quad \text{--- (A)}$$

$$\Rightarrow \frac{d}{du} (e^{\lambda u}) = \lambda e^{\lambda u} \quad \text{--- (B)}$$

Put (A) and (B) in eq.

$$4\lambda^2 e^{\lambda u} - 6\lambda e^{\lambda u} - 7e^{\lambda u} = 0$$

$$\Rightarrow (4\lambda^2 - 6\lambda - 7) e^{\lambda u} = 0$$

$$\Rightarrow \lambda = \frac{3}{4} - \frac{\sqrt{37}}{4}$$

$$\Rightarrow \lambda = \frac{3}{4} + \frac{\sqrt{37}}{4}$$

(8)

$$\Rightarrow y(n) = y_1(n) + y_2(n)$$

$$\Rightarrow y(n) = c_1 e^{(3/4 - \sqrt{37}/4)n} + c_2 e^{(3/4 + \sqrt{37}/4)n}$$

Ans.

THE END.